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A (8h) | (4h) A (8h) [ (4h)
i1 FOM101 110 3,300[ 1,650 PR3 F W309 50| 1,700 850
i 1 FM102 93| 3,300 1,650 T3 F W310 50[ 1,700 850
el 1 FOM103 168| 4,400 2,200 PR3 F W31l 50| 1,700 850
Pl 1 F o OM104 88| 3,500 1,750 PE3 F W312 24 800 400
pafi 1 F o M105 72| 3,300| 1,650 Wk 4 F  W422 20 800 400
PR 2 F o OM201 84| 2,900 1,450 VR4 F o W423 42| 1,200 600
P2 F M202 50( 2,200| 1,100 Wki4F W44 13 500 250
P 2 B M203 154| 4,500 2,250 Taki4 F W425 48| 1,200 600
P2 F o M204 50( 2,200| 1,100 Wk 4 F  W426 16 800 400
el 2 F - M205 LL1 48| 4,500 2,250 i 5 F Rik= 16 800 400
L 2 F o M206 91| 2,900 1,450 FASME1IEF R 380| 16,800| 8,400
WAl F El01 16/ 1,000 500 FASME2F HE=EL 30| 1,900 950
A1 F  E102 16| 1,000 500 FASME2F HEE2 12 900 450
WA 1F EI03 16/ 1,000 500 FASME2F HE=ES 10 900 450
A1 F E104 16 900 450 AREEE 1 F o akfmes 8] 1,600 800
HM1F EL08 771 2,300 1,150 A2 F K= 486| 13,800| 6,900
HAE1F  E109 771 2,100| 1,050 A2 F o Repl g 16 5,100 2,550
WAl F ELLO 80| 2,300 1,150 AREB2 F s 12| 1,300 650
FH2 F B2057FE R = 2,500 1,250 V=R VMW 1 F B 1,700 850
B2 F E06 &Y= 54 1,600 800 i M?ai;ﬁ\ﬁ”a’\\l F 450 2,500 1,250
i TR 2 E 2,500 1,250 T4Y) Ik
E207Ha Rk B 45 PRS2 == ’ ’ &kl 74 PEFIL R
HH4AF 2=l 24| 1,400 700 geth-1 F 78| 12,600 6,300
W4 F D=2 16 900 450 VENE =l
PER1EF W10l 771 2,000| 1,000 FESTE )7 4 E 22 2L ]
Vi1 F W102 137 3,400 1,700 WFget/-1 F 96| 8,500 4,250
Paki1 F W103 114 2,600 1,300 S101
FEPE 1 F W104 60| 2,300 1,150 TS 1) 74 PE 2R 2L ]
TER2 F W20l 48| 2,800 1,400 Waet/p-2 F 8 900 450
P2 F 202 40| 1,700 850 A
TEB2 F W203 96| 3,800 1,900 FESTE )7 4 PE 22 2L )
TEf 2 F W204 42| 2,200 1,100 et /4-3 F 12| 1,400 700
B2 F  W205 54 1,700 850 RikE
T2 F W206-207 14| 2,400] 1,200 KERELF  7)-F CEim) 8,100| 4,050
PR3 F W304 24 700 350 KERE2F ZH=E 4,100| 2,050
Paki 3 F  W305 24 800 400 A EN ) 9,100| 4,550
Va3 F  W306 24 800 400 FoAa-h (L) 3% 3,700 1,850
T3 F w307 24 800 400 epE = - A 6 1
a3 F W308 24 800 400




